Notes on Number Theory and Discrete Mathematics Print ISSN 1310–5132, Online ISSN 2367–8275 Vol. 27, 2021, No. 2, 64–69 DOI: 10.7546/nntdm.2021.27.2.64-69

A formula for the number of non-negative integer solutions of $a_1x_1 + a_2x_2 + \cdots + a_mx_m = n$ in terms of the partial Bell polynomials

Sumit Kumar Jha

International Institute of Information Technology Hyderabad-500 032, India e-mail: kumarjha.sumit@research.iiit.ac.in

Received: 26 June 2020 Revised: 20 December 2020 Accepted: 8 April 2021

Abstract: We derive a formula for the number of non-negative integer solutions of the equation $a_1x_1 + a_2x_2 + \cdots + a_mx_m = n$ in terms of the partial Bell polynomials via the Faà di Bruno's formula.

Keywords: Linear Diophantine equation, Generating function.

2020 Mathematics Subject Classification: 11D45, 05A15.

1 Introduction

Let a_1, a_2, \ldots, a_m be positive integers, and let the number of non-negative integer solutions of the linear Diophantine equation

 $a_1x_1 + a_2x_2 + \dots + a_mx_m = n$

be denoted by $N(a_1, a_2, \ldots, a_m; n)$. For the special case when $a_1 = a_2 = \ldots = a_m = 1$, it has been proven in [1] that

$$N(\underbrace{1,\ldots,1}_{m};n) = \binom{n+m-1}{m-1}.$$

When m = 2, then there exist explicit formulas for $N(a_1, a_2; n)$, see the paper [2]. The case when m = 3 has been studied by Binner [3]. Komatsu [1] has studied the general case.

We use the Faà di Bruno's formula to give the expression for $N(a_1, a_2, \ldots, a_m; n)$ in terms of the partial Bell polynomials.

Theorem 1.1. Let $g(x) = (1 - x^{a_1})(1 - x^{a_2}) \cdots (1 - x^{a_m}) = \sum_{s=0}^{a_1 + a_2 + \dots + a_m} \theta_s x^s$. Then we have

$$N(a_1, a_2, \dots, a_m; n) = \frac{1}{n!} \sum_{k=1}^n (-1)^k \, k! \, B_{n,k}(1! \, \theta_1, 2! \, \theta_2, \dots, (n-k+1)! \, \theta_{n-k+1}).$$
(1)

where $B_{n,k} \equiv \mathbf{B}_{n,k}(x_1, x_2, \dots, x_{n-k+1})$ is the (n, k)-th partial exponential Bell polynomial in the variables $x_1, x_2, \dots, x_{n-k+1}$ which can be computed using the recurrence [5, p. 415]:

$$B_{n,k} = \sum_{i=1}^{n-k+1} \binom{n-1}{i-1} x_i B_{n-i,k-1},$$
(2)

where

$$B_{0,0} = 1$$

 $B_{n,0} = 0 \text{ for } n \ge 1;$
 $B_{0,k} = 0 \text{ for } k \ge 1.$

Before proving the above result, we relate the above result to weighted integer compositions.

Relation to weighted integer compositions

Let *n* be a non-negative integer. Then a *k*-tuple of non-negative integers $(\pi_1, \pi_2, \ldots, \pi_k)$ is said to be an *integer composition* of *n* if $\pi_1 + \pi_2 + \cdots + \pi_k = n$. The numbers π_i 's are called *parts*.

Let $f : \mathbb{N} \to \mathbb{R}$ be an arbitrary function. For each possible *part size* $s \in \mathbb{N} = \{0, 1, 2, \dots, \}$, let f(s) be the *weight* of part size s. Let $\binom{k}{n}_f$ denote the *total weight* of all f-weighted integer compositions of n with k parts, that is,

$$\binom{k}{n}_f = \sum_{\pi_1 + \pi_2 + \dots + \pi_k = n} f(\pi_1) f(\pi_2) \cdots f(\pi_k).$$

Then, interpreting f(s) ($s \in \mathbb{N}$) as indeterminates, Eger [6] proved that

$$\frac{k!}{n!} B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) = \binom{k}{n}_f,$$

where

$$f(0) = f(n - k + 2) = f(n - k + 3) = \dots = 0,$$

$$f(s) = \frac{x_s}{s!}, \quad \text{for } s \in \{1, 2, \dots, n - k + 1\}.$$

Our main result translates to the following result:

Theorem 1.2. We have

$$N(a_1, a_2, \dots, a_n; n) = \sum_{k=0}^n (-1)^k \binom{k}{n}_f,$$

where

$$f(0) = f(n - k + 2) = f(n - k + 3) = \dots = 0,$$

$$f(s) = \theta_s, \quad for \ s \in \{1, 2, \dots, n - k + 1\},$$

where θ_s is as defined in the statement of Theorem 1.1.

2 Proof of Theorem 1.1

Proof. In [1] it has been proved that the number of non-negative integer solutions of $a_1x_1 + a_2x_2 + \cdots + a_mx_m = n$ is equal to the coefficient of x^n in

$$\frac{1}{(1-x^{a_1})(1-x^{a_2})\cdots(1-x^{a_m})}$$

Let f(x) = 1/x and $g(x) = (1 - x^{a_1})(1 - x^{a_2}) \cdots (1 - x^{a_m})$. Using Faà di Bruno's formula [4, p. 137] we have

$$\frac{d^n}{dx^n}f(g(x)) = \sum_{k=1}^n f^{(k)}(g(x)) \cdot B_{n,k}\left(g'(x), g''(x), \dots, g^{(n-k+1)}(x)\right).$$
(3)

Since $f^{(k)}(x) = \frac{(-1)^k k!}{x^{k+1}}$ and g(0) = 1, letting $x \to 0$ in the above equation gives

$$N(a_1, a_2, \dots, a_m; n) n! = \sum_{k=1}^n (-1)^k k! B_{n,k} \left(g'(0), g''(0), \dots, g^{(n-k+1)}(0) \right),$$

where $g^{(l)}(0) = \theta_l l!$ by the Maclaurin series expansion of g(x) in Theorem 1.1.

Example 2.1. We use our formula to calculate the number of non-negative integer solutions of the equation $x_1 + x_2 + x_3 + x_4 = 4$. Our formula should give us the result 35, of course, because we can apply the formula for N(1, 1, 1, 1; 4), which is a simple binomial coefficient which is "seven over three" and that is 35.

Theorem 1.1 gives us

$$N(1,1,1,1;4) = \frac{1}{4!} \sum_{k=1}^{4} (-1)^k \, k! \, B_{4,k}(1! \, \theta_1, 2! \, \theta_2, \dots, (4-k+1)! \, \theta_{4-k+1}),$$

where $\theta_1 = -4$, $\theta_2 = 6$, $\theta_3 = -4$ and $\theta_4 = 1$ since

$$g(x) = (1 - x)^4 = 1 - 4x + 6x^2 - 4x^3 + x^4.$$

We use the following values to find the correct answer:

$$B_{4,1}(x_1, x_2, x_3, x_4) = x_4,$$

$$B_{4,2}(x_1, x_2, x_3) = 4 x_1 x_3 + 3 x_2^2,$$

$$B_{4,3}(x_1, x_2) = 6 x_1^2 x_2,$$

$$B_{4,4}(x_1) = x_1^4,$$

which can be computed using the recurrence (2) (see [7] for a Python library for symbolic mathematics where the partial Bell polynomials are implemented).

The following calculation gives us the required answer:

$$N(1, 1, 1, 1; 4) = \frac{1}{4!} (-1! B_{4,1}(1! \theta_1, 2! \theta_2, 3! \theta_3, 4! \theta_4) + 2! B_{4,2}(1! \theta_1, 2! \theta_2, 3! \theta_3) - 3! B_{4,3}(1! \theta_1, 2!) + 4! B_{4,4}(1! \theta_1)) = \frac{1}{4!} (-4! \theta_4 + 2! (4 1! \theta_1 3! \theta_3 + 3 (2! \theta_2)^2) - 3! 6 (1! \theta_1)^2 2! \theta_2 + 4! (1! \theta_1)^4) = \frac{1}{4!} (-4! + 4! \cdot 32 + 4! \cdot 36 - 4! \cdot 12 \cdot 24 + 4! \cdot 4^4) = 35.$$

Example 2.2. Suppose we wish to calculate the number of non-negative integer solutions of the equation

$$x_1 + 2x_2 + 3x_3 + 4x_4 = 10.$$

In this case,

$$g(x) = (1 - x)(1 - x^{2})(1 - x^{3})(1 - x^{4}) = 1 - x - x^{2} + 2x^{5} - x^{8} - x^{9} + x^{10}$$

and thus

$$\theta_1 = \theta_2 = -1, \ \theta_3 = \theta_4 = 0, \ \theta_5 = 2, \ \theta_6 = \theta_7 = 0, \ \theta_8 = \theta_9 = -1, \ \theta_{10} = 1.$$

Using SymPy, [7] we can compute

$$\begin{split} B_{10,1}(x_1, x_2, \dots, x_{10}) &= x_{10}, \\ B_{10,2}(x_1, x_2, \dots, x_9) &= 10x_1x_9 + 45x_2x_8 + 120x_3x_7 + 210x_4x_6 + 126x_5^2, \\ B_{10,3}(x_1, x_2, \dots, x_8) &= 45x_1^2x_8 + 360x_1x_2x_7 + 840x_1x_3x_6 + 1260x_1x_4x_5 \\ &\quad + 630x_2^2x_6 + 2520x_2x_3x_5 + 1575x_2x_4^2 + 2100x_3^2x_4, \\ B_{10,4}(x_1, x_2, \dots, x_7) &= 120x_1^3x_7 + 1260x_1^2x_2x_6 + 2520x_1^2x_3x_5 + 1575x_1^2x_4^2 \\ &\quad + 3780x_1x_2^2x_5 + 12600x_1x_2x_3x_4 + 2800x_1x_3^3 + 3150x_2^3x_4 + 6300x_2^2x_3^2, \\ B_{10,5}(x_1, x_2, \dots, x_6) &= 210x_1^4x_6 + 2520x_1^3x_2x_5 + 4200x_1^3x_3x_4 + 9450x_1^2x_2^2x_4 \\ &\quad + 12600x_1^2x_2x_3^2 + 12600x_1x_2^3x_3 + 945x_5^5, \\ B_{10,6}(x_1, x_2, \dots, x_5) &= 252x_1^5x_5 + 3150x_1^4x_2x_4 + 2100x_1^4x_3^2 + 12600x_1^3x_2^2x_3 + 4725x_1^2x_4^2, \\ B_{10,7}(x_1, x_2, x_3, x_4) &= 210x_1^6x_4 + 2520x_1^5x_2x_3 + 3150x_1^4x_2^3, \\ B_{10,8}(x_1, x_2, x_3) &= 120x_1^7x_3 + 630x_1^6x_2^2, \\ B_{10,9}(x_1, x_2) &= 45x_1^8x_2, \\ B_{10,10}(x_1) &= x_1^{10}. \end{split}$$

Using Theorem 1.1, similar computation to Example 2.1 gives us 23 as the answer.

Example 2.3. Suppose we wish to calculate the number of non-negative integer solutions of the equation

$$x_1 + 2x_2 + 3x_3 + 4x_4 = 8$$

In this case, g(x) is the same as in the previous example since the left-hand sides of both equations are identical, and thus

$$\theta_1 = \theta_2 = -1, \ \theta_3 = \theta_4 = 0, \ \theta_5 = 2, \ \theta_6 = \theta_7 = 0, \ \theta_8 = \theta_9 = -1, \ \theta_{10} = 1.$$

Using SymPy, we can compute

$$\begin{split} B_{8,1}(x_1, x_2, \dots, x_8) &= x_8, \\ B_{8,2}(x_1, x_2, \dots, x_7) &= 8x_1x_7 + 28x_2x_6 + 56x_3x_5 + 35x_4^2, \\ B_{8,3}(x_1, x_2, \dots, x_6) &= 28x_1^2x_6 + 168x_1x_2x_5 + 280x_1x_3x_4 + 210x_2^2x_4 + 280x_2x_3^2, \\ B_{8,4}(x_1, x_2, \dots, x_5) &= 56x_1^3x_5 + 420x_1^2x_2x_4 + 280x_1^2x_3^2 + 840x_1x_2^2x_3 + 105x_2^4, \\ B_{8,5}(x_1, x_2, x_3, x_4) &= 70x_1^4x_4 + 560x_1^3x_2x_3 + 420x_1^2x_2^3, \\ B_{8,6}(x_1, x_2, x_3) &= 56x_1^5x_3 + 210x_1^4x_2^2, \\ B_{8,7}(x_1, x_2) &= 28x_1^6x_2, \\ B_{8,8}(x_1) &= x_1^8. \end{split}$$

Using Theorem 1.1, similar computation to Example 2.1 gives 15 as the answer.

Example 2.4. Suppose we wish to calculate the number of non-negative integer solutions of the equation

$$x_1 + 2\,x_2 + 3\,x_3 + 4\,x_4 = 12.$$

In this case, g(x) is the same as in the previous example and thus

$$\theta_1 = \theta_2 = -1, \ \theta_3 = \theta_4 = 0, \ \theta_5 = 2, \ \theta_6 = \theta_7 = 0, \ \theta_8 = \theta_9 = -1, \ \theta_{10} = 1.$$

Using SymPy, we can compute

$$\begin{split} B_{12,6}(x_1, x_2, \dots, x_7) &= 792x_1^5 x_7 + 13860x_1^4 x_2 x_6 + 27720x_1^4 x_3 x_5 + 17325x_1^4 x_4^2 \\ &\quad + 83160x_1^3 x_2^2 x_5 + 277200x_1^3 x_2 x_3 x_4 + 61600x_1^3 x_3^3 + 207900x_1^2 x_2^3 x_4 \\ &\quad + 415800x_1^2 x_2^2 x_3^2 + 207900x_1 x_2^4 x_3 + 10395 x_2^6, \\ B_{12,7}(x_1, x_2, \dots, x_6) &= 924x_1^6 x_6 + 16632x_1^5 x_2 x_5 + 27720x_1^5 x_3 x_4 + 103950x_1^4 x_2^2 x_4 \\ &\quad + 138600x_1^4 x_2 x_3^2 + 277200x_1^3 x_2^3 x_3 + 62370x_1^2 x_2^5, \\ B_{12,8}(x_1, x_2, \dots, x_5) &= 792x_1^7 x_5 + 13860x_1^6 x_2 x_4 + 9240x_1^6 x_3^2 + 83160x_1^5 x_2^2 x_3 + 51975x_1^4 x_2^4, \\ B_{12,9}(x_1, x_2, x_3, x_4) &= 495x_1^8 x_4 + 7920x_1^7 x_2 x_3 + 13860x_1^6 x_2^3, \\ B_{12,10}(x_1, x_2, x_3) &= 220x_1^9 x_3 + 1485x_1^8 x_2^2, \\ B_{12,11}(x_1, x_2) &= 66x_1^{10} x_2, \\ B_{12,12}(x_1) &= x_1^{12}. \end{split}$$

Using Theorem 1.1, similar computation to Example 2.1 gives 34 as the answer.

References

- [1] Komatsu, T. (2003). On the number of solutions of the Diophantine equation of Frobenius General case. Mathematical Communications, 8, 195–206.
- [2] Tripathi, A. (2000). The number of solutions to ax + by = n. The Fibonacci Quarterly, 38, 290–293.
- [3] Binner, D. S. (2020). Number of non-negative integer solutions of the equation ax + by + cz = n and its relation with quadratic residues. *Journal of Integer Sequences*, 23, Article 20.6.5.
- [4] Comtet, L. (1974). Advanced Combinatorics: The Art of Finite and Infinite Expansions, D. Reidel Publishing Co., Dordrecht.
- [5] Charalambides, Ch. A. (2002). Enumerative Combinatorics, CRC Press.
- [6] Eger, S. (2016). Identities for partial Bell polynomials derived from identities for weighted integer compositions. *Aequationes mathematicae*, 90, 299–306.
- [7] SymPy: a Python library for symbolic mathematics. Tool available at https://docs. sympy.org/latest/modules/functions/combinatorial.html.